
 

 

Answer on Question #57411 – Math – Calculus 

Question 

Write each equation in standard form 

 

y^2 + 4y – 8x + 4 = 0 

 

Solution 

The standard form of the equation of the parabola is as follows: 

 𝑦 = 𝑎𝑥2 + 𝑏𝑥 + 𝑐  

(in this case the axis of symmetry of the parabola is parallel to the 𝑦-axis). 

 We shall transform our equation to the form 

 𝑥 = 𝑎𝑦2 + 𝑏𝑦 + 𝑐  

(in this case the axis of symmetry will be parallel to 𝑥-axis). 

Equation 

𝑦2 + 4𝑦 − 8𝑥 + 4 = 0   

can be rewritten as 
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(𝑦 + 2)2 is the so-called vertex form. 

In this case the axis of symmetry has the equation 

𝑦 = −
𝑏
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, 

i.e. 𝑦 = −
1
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 ,       𝑦 = −2. 
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